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Test of Chinese as a Foreign Language: Listening
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You have 50 minutes to work on this test. There are a total of 50 test items.

A MEELBABEAELEF L BABALOEFHERE RS -
You must indicate your answers ON THE ANSWER SHEET. Answers written on
the question booklet will not be graded.

Z FEN—MBEALE MBRA—EEHLE -

Please select only ONE answer from the choice of the possible answers.

W BRI R T AR HA R ORE o o RA AT
Rf ERAA BTk
Once the test begins, you may not leave the test room. If you have any questions,

please raise your hand. The test proctor will help you.

B FRERE > FRAARLSEFRALLE - FERAE WE -
AR AR 0 T ABER o
When the test is over, please put your question booklet and answer sheet on the

desk. Please do not leave until the test proctor has collected all of the test materials.
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Part One

(% 1~10 %7)
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Directions: In this part of the test, each test |tem comes with a picture. You will hear a

guestion and three possible answers (A), (B), and (C) read aloud. Please use the picture to

choose the most appropriate answer to each statement. Each test item will be read twice, and

there will be a 5-second pause after the question is read for the first time. After the second

reading, you will have five seconds to mark your answer before a new test item begins.

N

] A8 4™ Example -

iw g —ﬁ |- & B & You will see one picture :

BEF > RERI - BRI BEA o
Then, you will hear one question and three possible answers.

- B3R RE AV ?
(A) g+25 -
(B) &g+ T
(C) g+ +m o

- HAERA(A) R ERERFRFDL -
The correct answer to this test item is (A). Please fill in the corresponding circle on your
answer sheet.

1. @ ® ©

RPER S B- SRR A T -

This is the end of the test instructions. Now, please turn to Part One of the test.
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Part Two
(% 11~25 1)
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Directions: In this part of the test, each test item includes three pictures (A), (B), and (C).
You will hear a dialogue read between two speakers. After each dialogue, please choose the
picture that best describes the dialogue. Each dialogue will be read twice with a 5-second
pause in between readings. After the second reading, you will have five seconds to mark your
answer before a new test item begins.

| 484 Example -

%€ 'ﬁ | = sk B & You will see three pictures :

(A) (B)

BF o RERII- K- ¥ it o
Then, you will hear a dialogue between two speakers.

E
CPFR T A& T eg 9
Lo B BT E R AR

S AR LB) e FRELER AL
The correct answer to this test item is (B). Please fill in the corresponding circle on your

answer sheet.

2. ® @ ©

S T L L

This is the end of the test instructions. Now, please turn to Part Two of the test.
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Part Three

(% 26~40 1)

WP AR BIA 0 FAEF (A)B)C)Z E B 0 In g BF - KA B A ¥
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Directions: In this part of the test, each test item has three pictures (A), (B), and (C). You
will hear a dialogue between two speakers, with four sentences altogether. After each
dialogue, someone will ask a question about the dialogue. Please choose the picture that best
answers this question. Each dialogue will be read twice, with a 5-second pause in between
each reading. After the second reading, you will have five seconds to mark your answer
before a new test item begins.

|48 4 Example :

iw g 'g | = sk B & You will see three pictures :

FBEF DGR - EHE- BRI

Then, you will hear a dialogue and a question.

A
A:ﬁﬂ%%&iﬂg?
7T BAY .
N RO R
s’ oAl )\'_g' J\:Iﬁ) )}\'.:_l_’%étiﬁ_i o
LR BB E D
- RAC) G ERERERF L o

The correct answer to this test item is (C). Please fill in the corresponding circle on your
answer sheet.

3. W6 @

WP ER 0 H AL RE ke T o

This is the end of the test instructions. Now, please turn to Part Three of the test.
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Part Four

(% 41~50 3%)

TP £ L AR g{&f' A gt > His s ‘?‘\144}3 - B A =
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Directions: In this part of the test , you will hear a dialogue between two speakers. After each

dialogue, you will be asked a question. Each test item has four possible answers (A), (B), (C)

and (D) listed on your answer sheet. For each question, please choose the best possible

answer, Each test item will only be read once. You will have five seconds to mark your
answer before a new test item begins.

] A8 4" Example -

EE
VA ’%fﬁﬂ??\;‘éﬁifﬁ% A X557
P H A BReE?
TR AR SR IRERLF T T o
PRI E N ke | A I e B4 ELFT o

o )

9 I ELHAREEAd R IHE N K?
(A) & o = § g <4
(B) ¥ i 4= e 4 T 3%
(C) #ApR 4™ 4 L4533 7
(D) # fed p = TR L4

E-RPERAD) G ERELFRFF L o
The correct answer to this test item is (D). Please fill in the corresponding circle on your

answer sheet.

4. ® ® © @

AR B e ER G T

This is the end of the test instructions. Now, please turn to Part Four of the test.
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42.

43.

44,

45.

(A) 8t 7 113 vidic
(B) 3 Zen vy

(C) iz 4 & 4 w21
(D) i&*ti T R dFe cnd g

(A) F] 5 7RA8 crpRF* 12 H 48
(B) FliRimeh¥x 2 4
(C) Fa PP 2 ? BE
(D) ﬂﬁfﬁ;?ﬁ%’”c“@%

(A) &gz APy

(B) iz 4 -2 pv}?i

(C) Z3Fipixid H gy 3\
(D) £z d LA sl

(A) & & 3] i 20 o
(B) ¥ % F++ x5 47
(C) 4 & FA P LR+ =
(D) + % ¢ i L & 5|35

(A) Flaigt 247 §

(B) Flid e B -

(C) Fli# & g fpimens #
(D) i BREEL LTI L4
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47.

48.

49.

50.

(A) 8w 2R3

(B) =z =% % 3 Wz 2

(C) B i - 4ewd
(D) @z 2 ¥ Fio Pl 4

(A) %72 giEda ey

(B) %7 {2 § ¥~ eh &

(C) 4 % B £ FRE

(D) B B FH>F 54 F

(A) B ] 488 S EBED
(B) iz |42 {xf &5 L5k
(C) 3R tiz | de & 47 %]

(D) 3E5 % 2 i friz i ] 42— 42 3

(A) 3 BLI Pt fd >
(B) 8+ 3 R
(C) 558> £z
(D) 6% & Bodr | Tl

(A) 4 p 5]
(B) 4 B-Bw L &7



